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%1 |FLET 139 172 311 %6 |hAEHT 1 0 1
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ARG FOET 187 241 428 15 HT 40 53 93
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%2 [BFEISTH 200 156 356 k=il 37 34 71
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HiEFE2TH 157 196 353 /B 2,164 2,395] 4,559
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%3 |EXRE2TH 150 142 292 HETSTH 151 139 290
$EET1TH 111 154 265 TEEET 144 151 295
$RET2TH 248 291 539 =XMW1 TH 176 218 394
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EHHET 45 49 94 =y 49 52 101
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ESHE] 71 95 166 L#&#E2TH 11 10 21
/INEE 1,299 1,526 2,825 EyIB1TH 20 22 42
%4 |[FEI2TH 92 106 198 XE1TH 398 496 894
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/e A i ET 48 50 98 KIE3TH 142 159 301
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BHET 269| 347 616 SIE2TH 42 52 94
HEGH 30 25 55 EEH 63 79 142
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ch @7 76 93 169 BEET1TH 50 69 119
MEBRI1TH 112 172 284 A2 TH 148 199 347
IEET2T B 31 32 63 /bR 707 823] 1,530
A KHET 45 70 115
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/INEE 862 987[ 1,849
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%9 |hE1TH 213] 264 477 %13 [EfEEITH 30 38 68
T E2TH 252 315 567 HEEATH 130 147 277
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55 74 83 157 XKES5TH 99 116 215
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%19 |L#&RESTH 51 117 168 28 |FEA 81 87 168
F&#E4TH 65 94 159 &5 163 172 335
LEESTH 234 274 508 TRE 33 36 69
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L#&BE7TH 120 134 254 == 63 67 130
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il o 4 2 6 BE 264 296 560
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o6 |REHRT 1895| 2063 3958 /NET 1,303 1,437] 2,740
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